MINUTES OF THE FIFTH APEX COUNCIL MEETING THE HYDERABAD CRICKET ASSOCIATION HELD ON MONDAY THE SIXTEENTH DAY OF MARCH, 2020 AT 2:00 PM AT HCA REGISTERED OFFICE, RAJIV GANDHI INTERNATIONAL CRICKET STADIUM, UPPAL, HYDERABAD.

Members of the Apex Council Present:

1.	Mr. Mohammad Azharuddin	-	President	
2.	Mr. K.John Manoj	-	Vice President	
3.	Mr. R.Vijayanand	-	Secretary	
4.	Mr. Naresh Sharma	-	Joint Secretary	

5. Mr.Surender Kumar Agarwal Treasurer Ms. P. Anuradha 6. Councillor

7. Mr. Parth Satwalekar Men's Cricket Players Nominee Ms. Subhadra Suri Women's Cricket Players Nominee 8.

And

9. Mr. V. Venkateswara Rao Incharge CEO

Leave of absence is granted to Mr.Santosh V Daware, CAG Nominee to this Fifth Apex Council Meeting.

The Hon. Secretary R. Vijayanand welcomed all the members of the Apex council to the Fifth Apex Council Meeting and informed that they are not taking up the item no. 4 & 5 of the Agenda i.e., Tenders for ensuing IPL Matches due to the postponement of the IPL -13 Season by BCCI and postponement of fixing a date for conducting the AGM due to Novel Corona Virus (COVID-19).

The Hon. Secretary R. Vijayanand with a profound grief, requested the Members to observe two minutes silence as a mark of respect to the departed soul of Late Mr.E.Gopal and Late Mr.Fayazuddin who expired on 11.03.2020 after serving the association for a long period.

The Members responded and observed two minutes silence as a mark of respect to the departed souls.

The Secretary Mr.R.Vijayanand requested the President Mr. Mohammad Azharuddin to preside over the meeting.

The President Mr. Mohammad Azharuddin presided over the meeting.

The President Mr. Mohammad Azharuddin took up the agenda as follows.

Item No.1: Confirmation of Minutes

All the members of Apex Council unanimously confirmed the minutes of the 4th Apex Council meeting held on 02.02.2020 at Registered Office of HCA, RGICS, Uppal, Hyderabad.

<u>Item No.2</u>: Points arising out of minutes of the fourth apex council meeting:

Page No.2:

Mr.John Manoj pointed out that there is a small typographical mistake in the para no.3 page 2 it is mentioned as "that Shalimar Cricket XI it should **complete** under Ranga Reddy Jurisdiction" instead of mentioning it should **come** under Ranga Reddy Jurisdiction and in same para it is typed as Shalimar Cricket IX due to oversight and needs to be changed as Shalimar XI.

Mr.Parth Satwalekar pointed out that in page no.2 last but one para, I did not enquire about the stadium insurance but I enquired about the insurance to club members and the same needs to be corrected and the same is changed to insurance to club members.

Mr.John Manoj, Vice President stated that as we have one month time it is better to call for tenders for fire-fighting system.

Mr.Surender Kumar Agarwal, Treasurer dissented for calling tenders and he suggested that as the time is less we have to go for Expression of Interest for fire-fighting system.

Mr.Naresh Sharma, Joint Secretary also opined to call for tenders for fire-fighting system. After discussions and deliberations the apex members resolved to immediately call for tenders for fire-fighting system by appointing a consultant as per the norms.

Page No.3:

Mr.R.Vijayanand, Secretary informed that we could not felicitate the U-16 boys team and Under-23 Women team as mentioned in the minutes of 4th apex council meeting at page no. 3, para 3 and the same is postponed to the Formation Day of Hyderabad Cricket Association i.e., April 14, 2020.

Mr.John Manoj, Vice President stated that as the Incharge CEO Mr.V.Venkateswara Rao has given his resignation letter with three months notice and the same ends by 20.04.2020, we need to release an advertisement immediately for the post of C.E.O and appoint a new C.E.O. as per Justice Lodha Recommendations and also for smooth functioning of day to day affairs of HCA.

Mr.John Manoj, Vice President enquired with the Incharge CEO Mr.V.Venkateswara Rao about the accounts for the period of 2017-18 and 2018-19 and informed that after submission of Utilization Certificate the BCCI had released an amount of Rs.10,00,00,000/- (Rupees Ten Crores Only) to the Hyderabad Cricket Association and the Board i.e., BCCI further informed that they will release pending funds after submission of audited accounts for the year 2017-18 & 2018-19.

Mr.V.Venkateswara Rao, Incharge CEO informed the members that M/s. Venugopal & Chenoy Statutory auditors had completed the audit for the year 2017-18 and he had to issue vetted financials and submit the report and the same needs to be adopted in the AGM. After adoption of 2017-18 accounts in AGM only he will take up the audit for the year 2018-19 and it may not be possible to complete the same before he leaves the Office. He further clarified to the members that the Statutory Audit for the year 2018-19 has not yet commenced. He further informed that M/s. Venugopal & Chenoy, CAs have submitted their resignation for the year 2017-18.

Mr. Surender Kumar Agarwal, Treasurer informed that there is no problem with internal auditors. And further informed that Mr.Vijayanand, Secretary also talked to M/s. Venugopal Chenoy, Statutory Auditors and they are willing to continue as HCA Auditors. He further informed that for the first time BCCI has released the amount without deputing their team of officials for cross checking the accounts. Mr.V.Venkateswara Rao, Incharge CEO informed that as the earlier team of

A866

officials has given good report to the BCCI in the month of September, 2019; BCCI has relied upon their report and released the amounts to HCA.

Page No. 7

Mr.John Manoj pointed out that there is a typographical error its Abrar and not Abrah.

Page No.11 Last Paragraph

Mr. R. Vijayanand, Secretary stated that I have mentioned Rs.1,57,000/- and it is mentioned as Rs.57,000/- towards medical reimbursement to Mr.Yadagiri, Ex-Treasurer and needs to be corrected as Rs.1,57,000/-.

Mr.Surender Kumar Agarwal stated that it will become very difficult to reimburse the amount towards the medical bills of the club secretaries and suggested to get insurance to them at the earliest.

Mr.Parth Satwalekar, Men Players nominee sought clarification from which amounts they are reimbursing the medical bills and insurance to the club secretaries.

Mr.John Manoj, Vice President clarified that the reimbursement to the Club Secretaries towards medical bills and insurance to the club secretaries is paid from the HCA earned amounts and not from the fund granted by the BCCI. He further informed to ensure that medical bills are submitted by the concerned secretaries towards their reimbursement.

Mr.V.Venkateswara Rao, Incharge CEO informed that this season they have reimbursed to Mr.Ganesh Pai an amount of Rs. 3,00,000/- and we are in receipt of the bills amounting to Rs.8,00,000/- and to Mr.Baig we have released an amount of Rs.3,00,000/- towards medical reimbursement but received bills for an amount of Rs.90,000/- only and to Dawood Ali Khan, Apex Council has approved an amount of Rs.2,00,000/- towards medical reimbursement and we have released Rs.49,518/- as we received Bills to that extent and we have not yet released the amount to Mr.Yadagiri, Ex-Treasurer towards his medical reimbursement.

Mr.John Manoj, Vice President stated to call for tenders for the Multi-level Parking so we can claim from BCCI towards Infrastructure.

Mr.R. Vijayanand, Secretary advised to install Solar Power Plant on the multi-level parking.

Mr.Parth Satwalekar, Men's Nominee suggested to install the solar power Plant in the stadium then multi-level parking like in Bangaluru Stadium as the solar power plant requires larger space. And he further stated not to merge multi-level parking and solar power plant.

Mr.R.Vijayanand, Secretary and Mr.Naresh Sharma, Joint Secretary clarified that it is a good idea but our stadium does not have the roof tops where we can install the solar power plant.

Mr.Surender Kumar Agarwal informed that on the Formation Day of Hyderabad Cricket Association we will announce the Cricket Activity i.e., on April 14, 2020.

Ms. Subhadrasuri requested to clearly clarify about the insurance to the club secretaries.

Mr.Surender Kumar Agarwal, Treasurer clarified by stating that from HCA earned funds, HCA will provide medical insurance to the Club Secretaries by taking insurance policy for a sum of Rs.3,00,000/- to each member and the same will be renewed every year.

Mr.Naresh Sharma, Joint Secretary requested to get the insurance to the club secretaries at the earliest.

Mr. John Manoj, Vice President stated that during 2014 we made correspondence to Mr. Kalvakuntla Taraka Rama Rao (Mr. KTR), Hon'ble Minister for M.A.&U.D., Industries and IT&C requesting that an amount of Rs.25,00,000/- per annum will be paid to IALA towards property tax and he kindly considered and agreed for the

same and from then we paid an amount of Rs.25,00,000/- per annum and requested to check the correspondence in HCA records and get it regularized.

Mr.V.Venkateswara Rao, Incharge CEO informed that we are paying Rs.25,00,000/- by 31st March every year for the last 3-4 years as per the understanding with Mr.KTR but as per the records of IALA they are charging around Rs.2,00,00,000/- (Rupees Two Crores Only) per annum and adding 2% interest and updating online and now claiming around Rs.30,00,00,000/- towards arrears and the same needs to be dissolved at the Chairman level.

Page No.13:

Mr.John Manoj, Vice President stated that we have appointed Mr. Riaz Qureshi to get the feedback of Nizamabad Cricket Association to start the works like water works, get the ground prepared and cricket activity should start there at Nizamabad and we are going to visit Nizamabad Cricket Association at the earliest and inform the updates to the Apex Council Members.

Thus the minutes of fourth apex council meeting dated 02.02.2020 are confirmed.

Mr.R.Vijayanand, Secretary informed that we are celebrating Hyderabad Cricket Association Formation Day on 14.04.2020 at RGICS, Uppal. He further informed that we are releasing the payments to all the coaches and support staff for the year 2019-20. Details of payments are enclosed herewith as Annexure–I.

Item No. 3: Accounts for the month of January and February, 2020.

Apex Council approved the accounts.

Mr.John Manoj stated that we have to pay the staff bonus and Mr.V.Venkateswara Rao, Incharge CEO stated that we have to pay OT also and the employees have given a representation for payment of Bonus and OT. He further informed that for the first time the BCCI has released Rs.30 crores for the financial year 2019-20 when compared to past three (3) years.

Mr.V.Venkateswara Rao, Incharge CEO informed that for property insurance i.e., stadium insurance we have received quotations in the month/of February, 2020 and

New India Assurance Co. Ltd has quoted the lowest premium at an amount of Rs.6,09,416/- and we have released the payment on 27.02.2020. After two days, the Deputy Manager of M/s. New India Assurance Co. Ltd represented that from 1st January, 2020 the rates have been differentiated as indoor and outdoor and due to oversight they have quoted the indoor rate and at the outdoor rate premium around comes to Rs.20,00,000/- and requesting either to pay the balance amount of 14,00,000/- or to accept refund. They are ready to refund premium paid by us in full.

Mr.John Manoj, Vice President opined to check the previous insurances to get an idea on the amounts quoted and then to proceed further.

Mr.Surender Kumar Agarwal, Treasurer stated to ensure refund and then go for the lowest quoted after collecting fresh quotations.

Mr.Surender Kumar Agarwal, Treasurer informed to appoint Cheque Signatories as V.Venkateswara Rao, Incharge CEO has submitted his resignation.

The Apex Council temporarily authorized Mr.SPBL Varaprasad, Accountant and Mr.M.Narayana, OSD as the cheque Signatories until the New CEO is appointed. This will come into force from next working day of relieving In-charge CEO.

Mr.V.Venkateswara Rao, Incharge CEO has clarified about insurance claim of canopy. Insurance claim is linked to replacement of Canopy and making payment. Then only insurance claim will be settled by National Insurance Company.

Mr.Surender Kumar Agarwal, Treasurer stated that we are not finding most of the files and opined to file police complaint for missing files. Mr.V.Venkateswara Rao stated that the earlier CFO has handed over three almarahs and we may find the files in those almarahs.

Mr.Azharuddin, President stated that the groundmen are using the heavy covers and when the covers are on line they are going on spikes whereby causing holes to the covers and suggested to tell them to go with rubbers. He further suggested to purchase 2 Land Movers and Rollers and covers at Gymkhana.

Mr.John Manoj, Vice President enquired about the plantation in the stadium.

Mr.R.Vijayanand, Secretary informed that his friend has sponsored 8 lakhs worth plants to stadium and it has costed Rs.80,000/- for planting the plants in the stadium towards labour charges. All the members appreciated for the work done by Mr.R.Vijayanand, Secretary for planting all the trees and plants in the stadium. Further he stated that an amount of Rs.75,000/- was incurred for the HCA Logo at Gate No.1 and Rs.1,75,000/- towards labour charges at Gate No.1.

Mr.V.Venkateswara Rao, Incharge CEO informed that M/s. Swamy Associates has given service towards service tax issues closing and have raised their bill for an amount of Rs.4,00,000/- + GST and Mr.Surender Kumar Agarwal stated to negotiate with M/s. Swamy Associates.

Item No.6: Any other matter:

Smt P.Anuradha, Councillor suggested to name one of the dressing rooms of the stadium as P.Krishna Murthy, Former Indian Test Wicket Keeper and during Mr.Shivlal Yadav and Mr.Yadagiri tenure there was a proposal to name one of the places in the stadium as Mr.P.Krishna Murthy.

Ms.Subhadra Suri suggested the naming of women cricket players in one of the places of the stadium.

Mr.R.Vijayanand, Secretary stated the same will be taken up in the AGM and after approval from AGM the same will be named in their name.

Mr.Surender Kumar Agarwal, Treasurer stated that Mr.Mukesh Kumar, Curator; Mrs. Vishnupriya, Stenographer cum Office Assistant; Mr.Md. Najeem, Attender and Mr.Dawood, Attender have given representations for enhancement in their salaries and the same is considered by the Members of the Apex Council. Mr.Mohammad Azharuddin and Mr.Surender Kumar Agarwal stated to enhance their salaries and Mr.Vijayanand, Secretary informed that in the month of April increments will be given to the staff and at the same time their salaries will be enhanced taking this into consideration.

Mr.John Manoj stated that after convening General Body Meeting at the BCCI, we hope BCCI will release Rs.30 crores to each of the State Associations.

Mr.V.Venkateswara Rao, Incharge CEO suggested to hire a Bank Locker to keep 13 tulas gold coins having with us. It is resolved to hire a Bank Locker at Canara Bank, Dilsukhnagar Branch and authorize the same with two signatories who sign the cheques to operate the Bank locker.

Mr.R.Vijayanand, Secretary stated that we will pay an amount of Rs.3,00,000/towards exgratia to the deceased E.Gopal family members as a Special Case (i.e., his three daughters Rs.1,00,000/- each) considering his services rendered to the HCA.

The meeting is concluded with vote of thanks by Mr.K.John Manoj, Vice President to the Chair and the members of Apex Council.

MOHAMMAD AZHARUDDIN

PRESIDENT

R.VIJ'AYANAND SECRETARY Mr.John Manoj, stated that people who are working from so many years are getting less salary than those who have joined later. He further stated that all the employees should be justified as per their qualifications, designations and experience.

Mr.Path Satwalekar, Men's nominee enquired about the CPAH.

Mr.R.Vijayanand, Secretary informed that everything is ready and we will appoint an electoral officer within 15 days for conducting elections of CPAH.

Mr.V.Venkateswara Rao, Incharge CEO informed that we have paid an amount of Rs.25,000/- each towards funeral expenses of Mr.E.Gopal and Mr.Faizuddin.

Mr.Parth Satwalekar stated that after the grant of amounts by BCCI to HCA, you stated you will start players' pension and as the BCCI has released a sum of Rs.10 crores now, I request you to implement the pension scheme to the previous players and also clear pending payments to the coaches, support staff etc.

Mr.Surender Kumar Agarwal stated that we will release all the other payments only after the BCCI releases major amounts like Rs. 30 to 40 crores.

Mr.John Manoj, Vice President stated that we are in receipt of Rs.10.80 crores recently from the BCCI and we have already spent an amount of Rs. 4.90 crores towards Service Tax. Balance fund of Rs.5.90 cr. is required to pay IGST (1.80 cr.), Professional fee to Men Selectors, Coaches and other support staff (2.20cr.) Professional fee to Women Selectors, Coaches and Support staff (0.65cr.), Property tax to IALA (0.25cr.), Air Travel & Hotel Bills (0.60cr.) and other expenses like Transportation of Players, Salaries, Security, House Keeping etc (0.40cr.) He further stated that when he was secretary he paid pensions and later on after their term is over the pensions were stopped and to overcome this we should deposit a consolidated amount in the bank and the interest earned on it should be paid towards the players pension. He further stated that Mr.Mohammad Azharuddin, President has requested the BCCI President to release an amount of Rs.140 crores to HCA and even if the BCCI releases 40 to 50 crores to HCA a some amount should be fixed in the Bank and the interest earned should be paid towards pension to the players and the same should be continued even after our term is completed.

Sr. Selection Committee Remuneration for the season 2019-20

		1250000	250000	1500000	0	125000	1375000
5	Ehtesham Ali Khan	250000	50000	300000		25000	275000
4	Jyothi Prasad	250000	50000	300000		25000	275000
3	Ahmed Quadri	250000	50000	300000		25000	275000
2	M V Ramana Murthy	250000	50000	300000		25000	
1	R A Swaroop	250000	50000	300000		25000	275000
SI.No	Name	2019-20	TA / DA	Amount	paid	TDS@10%	Payable
		For Season			Amount		Amount

Jr. Selection Committee Remuneration for the season 2019-20

		For Season			Amount		Amount
Sl.No	Name	2019-20	TA / DA	Amount	paid	TDS@10%	Payable
1	Abdul Azeem	700000	100000	800000		70000	730000
2	Vivek Jaisimha	700000	100000	800000		70000	730000
3	Noel David	700000	100000	800000		70000	730000
4	Rajesh Yadav	700000	100000	800000	300000	40000	460000
5	Shivaji Yadav	700000	100000	800000		70000	730000
		3500000	500000	4000000	300000	320000	3380000

U-14 Jr. Selection Committee Remuneration for the season 2019-20

		For Season			Amount		Amount
S1.No	Name	2019-20	TA / DA	Amount	paid	TDS@10%	Payable
1	Rajesh Yadav	0	37500	37500		0	37500
2	A Shiva Shankar	300000	37500	337500		30000	307500
3	MA Javeed	300000	37500	337500		30000	307500
4	T K Nagraju	300000	37500	337500		30000	307500
5	M Sunil Raghav Goud	300000	37500	337500		30000	307500
		1200000	187500	1387500	0	120000	1267500

Grand Total

5950000 937500 6887500 300000

565000 6022500

Secretary

Remurenation of Hyderabad Team Coaches & Support Staff for the Season 2019-20

1 2 3 4 5 6 7	Ranji Head Coach Ranji Bowling Coach Ranji Fielding Coach Ranji Trainer Ranji Asst.Trainer Ranji Performance Analyst U-23 Head Coach U-23 Bowling Coach	N Arjun Yadav N P Singh Shashanak Nag Rajamani Prasad N S Ganesh M Sailesh Kumar Zakir Hussain	1500000 800000 800000 800000 400000		1500000 800000 800000 800000 400000	300000		1350000 720000 720000 450000
3 4 5 6	Ranji Fielding Coach Ranji Trainer Ranji Asst.Trainer Ranji Performance Analyst U-23 Head Coach	Shashanak Nag Rajamani Prasad N S Ganesh M Sailesh Kumar	800000 800000 400000 800000		800000 800000	300000	80000 50000	720000
4 5 6	Ranji Trainer Ranji Asst.Trainer Ranji Performance Analyst U-23 Head Coach	Rajamani Prasad N S Ganesh M Sailesh Kumar	800000 400000 800000		800000	300000	50000	
5	Ranji Asst.Trainer Ranji Performance Analyst U-23 Head Coach	N S Ganesh M Sailesh Kumar	400000 800000			300000		450000
6	Ranji Performance Analyst U-23 Head Coach	M Sailesh Kumar	800000		400000			
	U-23 Head Coach						40000	360000
7		Zakir Hussain			800000		80000	720000
	U-23 Bowling Coach		800000		800000		80000	720000
8		Md. Mohiuddin	300000		300000		30000	270000
9	U-23 Fielding Coach	Dayanand	600000		600000		60000	540000
10	U-23 Trainer	Kanishk K Naidu	300000		300000		30000	270000
11	U-19 CB Head Coach	Ghouse Baba	400000		400000		40000	360000
12	U-19 CB Assit. Coach	Rolond Rodrigues	300000		300000		30000	270000
13	U-19 CB Trainer	Abhinav Kumar	300000		300000		30000	270000
14	U-19 VM Head Coach	Anirudh Singh	400000		400000		40000	360000
15	U-19 VM Bowling Coach	Alfred Ablosom	300000		300000		30000	270000
16	U-16 Head Coach	Kiran Kumar	600000	100000	700000		70000	630000
1.5	U-16 Assit. Coach	R K Vashmi	400000	100000	500000		50000	450000
1	U-16 Fielding Coach	Harikanth	400000	100000	500000		50000	450000
19	U-16 Trainer	Mudhasudhan Reddy	300000	100000	400000		40000	360000
20	U-16 Physio	Chanyaka		100000	100000		10000	90000
21	U-14 Head Coach	Abrar Ahmed	400000		400000		40000	360000
22	U-14 Assit. Coach	Vinay Gupta	300000		300000		30000	270000
23	U-14 Fielding Coach	Murali Kumar	200000		200000		20000	180000
24	U-14 Trainer	Ashish	200000		200000		20000	180000
			11600000	500000	12100000	300000	1180000	10620000

c. Kany

Secretary

President

	Hyderab	ad Team Managers Rem	nuneration for t	he Seasor	2019-20		
	, of		No.of	Per		TDS@1	Net
S1.No	Name	Match Details	Matches	Match	Amount	0%	Payable
1	Vikram Mansingh	Ranji Team	8	40000	320000	32000	28800
2	Samiullah Baig	Vijay Hazare	8	20000	160000	16000	14400
3	Narsing Rao	Mustaq Ali	7	20000	140000	14000	12600
4	G Srinivas Rao	U-23 One day	8	20000	160000	16000	† 4400
5	Vinod Ingle	Col C K N	8	30000	240000	24000	21600
6	Rajender Reddy	U-19 Cooch Behar	8	30000	240000	24000	21600
7	Ashwaq Ahmed	U-19 Vinoo	8	20000	160000	16000	14400
8	RajaShekar (6 Matches)	U-16 VM	6	25000	150000	15000	13500
9	Sai Laxman (2 Matches)	U-16 VM	2	25000	50000	5000	4500
10	Peter Gomes (4 Matches)	U-14 SZ	4	25000	100000	10000	9000
11	SRD Kamath (2 Matches)	U-14 SZ	2	25000	50000	5000	4500
					1770000	177000	1593000

			No.of			TDS@1	Net
Sl.r	Name	Name of the Team	Days	Per Day	Amount	0%	Payable
1	E Gopal	Catering Laision Manager	20	2000	40000	4000	36000
2	K Pratap	Kerala Ranji	6	2000	12000	1200	10800
3	C Vamshi	Rajasthan Ranji	5	2000	10000	1000	9000
4	C Vamshi	Vidarbha Ranji	6	2000	12000	1200	10800
5	Chitti Sridhar	Kerala Ranji Media	7	2000	14000	1400	12600
6	Mohd Ali Khan	UP Col CKN	5	2000	10000	1000	9000
7	Mohd Ali Khan	Punjab Col CKN	5	2000	10000	1000	9000
8	Mohd Ali Khan	Rajasthan Col CKN	5	2000	10000	1000	9000
9	K Pratap	Vidarbha Col CKN	6	2000	12000	1200	10800
10	Deva Krishna	Jharkhand U-19 Cooch	6	2000	12000	1200	10800
11	Mohd Ali Khan	Maharastha U-19 Cooch	5	2000	10000	1000	9000
12	K Pratap	Vidarbha U-19 Cooch	4	2000	8000	800	7200
13	Mohd Ali Khan	Gujarat U-19 Cooch	5	2000	10000	1000	9000
1 1	Srinivas (IDL)	Andhra U-16 VIJ.M	4	2000	8000	800	7200
13/	Srinivas (IDL)	Pondicherry U-16 VIJ.M	5	2000	10000	1000	9000
16	Srinivas (IDL)	Goa U-16 VIJ.M	4	2000	8000	800	7200
17	Srinivas (IDL)	MPCA U-16 VIJ.M	6	2000	12000	1200	10800
					208000	20800	187200

208000 20800 187200

	M	atch Observers Remunerat	ion for the Se	eason 2019	9-20		
			No.of	Per		TDS@1	Net
S1.No	Name	Name of the Team	Matches	Match	Amount	0%	Payable
1	Vijay Bhaskar Reddy	Observer Ranji	8	20000	160000	16000	144000
2	G Ramakrishna	Observer U-23	1	20000	20000	2000	18000
3	Chitti Sridhar	Observer U-19	6	20000	120000	12000	108000
4	C Hamanth Rao	Observer U-19	1	20000	20000	2000	18000
5	Pradeep Kodati	Observer U-14	5	20000	100000	10000	90000
6	Riaz Quraishi	Observer Mustaq Ali	7	20000	140000	14000	126000
					and the second second		

560000 56000 504000

Venue Managers Remuneration for the Season 2019-20									
			No.of	Per		TDS@1	Net		
SI.No	Name	Ground	Matches	Match	Amount	0%	Payable		
1	P Krishnaiah Naidu	Venue Manager Uppal	75	5000	375000	37500	337500		
2	N Prakash Rao	Venue Manager Gymkhana	20	5000	100000	10000	90000		
3	SRD Kamath	Venue Manager NFC	1	5000	5000	500	4500		

 Total Amount

3018000 301800

Rem	uneration for Hyd	erabad Women	Selection (Committee	for the seas	son 2019-20
		Remuneration				
Sl.No	Name	per year	TA/DA	Amount	TDS@10%	Net Payable
1	C Malathy	450000	50000	500000	45000	455000
2	C B Rekha	450000	50000	500000	45000	455000
3	Kusum latha	450000	50000	500000	45000	455000
4	Manjula Kishore	450000	50000	500000	45000	455000
5	Rekha Patel	450000	50000	500000	45000	455000
	Grand Total	2250000	250000	2500000	225000	2275000

Secretary

President

		the season 2019	9-20		
		v			Amount
ŠI No.	Designation	Name	Remuneration	TDS@10%	Payable
1	Head Coach	Viduyuth Jaishma	900000	90000	810000
2 •	Asst. Coach	Harasha Harinarayana	500000	50000	450000
3	Trainer	Gajanand Reddy	300000	30000	270000
4	Asst.Trainer	Harasha Gangwal		0	(
5	Manager	Anna Mariya (8 Matches)	120000	12000	108000
			1820000	182000	1638000

			1020000	102000	1050000
Remu	uneration for S	Sr.Women T-20 Hyd Team		ort Staff & 1	Managers
		for the season 2	019-20		
					Amount
SI No.	Designation	Name	Remuneration	TDS@10%	Payable
1	Head Coach				
2	Asst. Coach	Harasha Harinarayana		- 1	
3	Trainer				
4	Asst.Trainer				
5	Manager	N Archana (5 Matches)	75000	7500	67500

Ren	nuneration for	U-23 Women Hyd Team C for the season 20	2 5 25	t Staff & N	Ianagers
CLN		And the Control of th		TD0 01004	Amount
SI No.	Designation	Name	Remuneration	1DS(a)10%	Payable
1	Head Coach	Viduyuth Jaishma		0	0
2	Asst. Coach	B Suvarna Lakshmi	500000	50000	450000
3	Trainer	Gajanand Reddy		0	0
4	Physio	Harasha Gangwal		0	0
5	Manager	P Anupama (8 Matches)	120000	12000	108000
			620000	62000	558000

				9-90	
F	Remuneration for U	J-23 T-20 Women Hyd Te	am Coaches,	Support S	taff &
		Managers for the season	2019-20		
				Amount	
SI No.	Designation	Name	Remuneration	TDS@10%	Payable
1	Head Coach	Viduyuth Jaishma		0	0
2	Asst. Coach	B Suvarna Lakshmi		0	0
3	Trainer	Gajanand Reddy		0	0
4	Physio	Harasha Gangwal		0	0
5	Performance Analyst	P Sridhar (4 Matches) 7 Days		0	0
6	Manager	Anna Mariya (11 Matches)	165000	16500	148500
		1	165000	16500	148500

And A86

Re	muneration for	· U-19 Women One day Hyo Managers for the seas		es, Support	Staff &
SI No.	Designation	Name	Remuneration	TDS@10%	Amount Payable
1	Head Coach	Abdul Bari Wahab	300000	30000	270000
2	Assit. Coach	Nayer Fathima	250000	25000	225000
3	Physio	N Manasa			
4	Manager	T Swandeep(8 Matches)	120000	12000	108000
			670000	67000	603000

Remuneration for U-19 Women T-20 Hyd Team Coaches, Support Staff & Managers for the season 2019-20						
SI No.	Designation	Name	Remuneration	TDS@10%	Amount Payable	
1	Head Coach	B Suvarna Lakshmi				
2	Assit. Coach	Nayer Fathima				
3	Manager					

Remuneration for U-16 Women Hyd Team Coaches, Support Staff & Managers for the season 2019-20						
					Amount	
SI No.	Designation	Name	Remuneration	TDS@10%	Payable	
1	Head Coach	M Keerthana	300000	30000	270000	
2	Assit. Coach	Maria Clare	250000	25000	225000	
3	Manager	S Kamakshi (6 Matches)	90000	9000	81000	
			640000	64000	576000	

Total Amount

3990000

399000 3591000

Secretary

President

7.	PRO	FESSIONAL I	EE TO THE		PORT STAFF	
S.NO.	NAME	DESIGNATION	MONTHS	DATE OF JOINING	PROFESSIONAL FEE	REMARK
1	B.RAJESH	PHYSIO U-23	6 MONTHS	01.10.2019	30000/- pm	
2	BHEESHM PRATAP SINGH	PHYSIO	12 MONTHS	18.08.2019	75000/pm	
3	M.NAVEEN REDDY	TRAINER	6 MONTHS	20.09.2019	66667/- p.m.	
4	R.KARTHEEK	MASSUER U-23	6 MONTHS	01.10.2019	30000/- pm	
5	SYED SAJID HUSSAIN	MASSUER -RANJI	12 MONTHS	01.09.2019	40000/- pm	
6	SANTOSH KANDUKURI	PHYSIO U-19	6 MONTHS	01.10.2019	30000/ -pm	
7	T. CHANAKYA	PHYSIO U-16	6 MONTHS	01.10.2019	25000/- pm	
8	HARSHA GANGWAL	PHYSIO W- 23 T- 20	38 DAYS	26.10.2019	3000/- PER DAY	
9	HARSHA GANGWAL	PHYSIO Senior Women's T-20	14 DAYS	12.10.2019	3000/- PER DAY	
10	HARSHA GANGWAL	PHYSIO Senior W- One Day	23 DAYS	14.02.2020	6000/- PER DAY	
11	MANASA NAYANALA	PHYSIO (U-16)	29 DAYS	02.01.2020	5,500/- PER DAY	
12	MANASA NAYANALA	PHYSIO (U-19)	33 DAYS	01.02.2020	5,500/- PER DAY	
13	MALIK HAFEEZULLAH	PERFORMANCE ANAYLYST Col CK Nayudu U-23	64 DAYS	17.12.2019	10000/- per match day DA 1500/- per day inclusive of practice days	
14	P.SRIDHAR	PERFORMANCE ANAYLYST WOMEN U-23	7 DAYS	*	21000/- CONSOLIDATED	
15	E.KRISHNA REDDY	PERFORMANCE ANAYLYST U-19 - VINOO MT & COOCH BT	6 MONTHS	01.10.2019	200000/- CONSOLIDATED	

SECRETARY

PRESIDENT